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Question NO- 2
m height IS

s thrown vertically upward Its speed at the maximur

J An object |

1
| © equals the initial speed by which it was thrown
| © greater than the initial speed by which it was thrown

© zero

@ greater than the average speed
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50w
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Question No. 8

How many kKilocalories of heat must be added to 10 kg Tungsten to raise its temperature by 230 Fahrenheit?

(Ihe specific heat of Tungsten is ¢ = 0,134 J/g.°C and ATy = 1.84T¢)

) 4.09 kcal

409 keal

2 0.409 kcal
' 40.9 kcal
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The friction between wo surfaces increases as

area between the surfaces INCreases

the normal force betw

»en the surfaces decreases.

the coeficient of inction decreases

etween the surfaces increases
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Awrecking bal of mass 2
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012k

12K
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all pushes back on him with force of magnitude;
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rce of 1000 N is making an angle of 60° with the

direction of motion ofan object.
1e work done is 500 k7, the distance moved is-
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Question No. 17

The human body average temperature is 98.6 °F. What is it in °C?
@ 373:°C
40 °C
310°C
372C
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Wer needed to speed up a 1000-kg car from zero Km/h to 72 kmvh in 10 seconds is
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Question No. 18

Neglecting air resistance, if a stone is thrown straight up with initial speed = 30 m/s, it will reach its maximum height after (use

~10s
3s

6s
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Question No. 19

Gravitational potential €energy of an object is due to its

temperature
position
velocity

acceleration
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Gravitational potential €energy of an object is due to its

temperature
position
velocity

acceleration




Hp)
(@ LTE ‘hna A

+966 54 3819820
bilwsll JS wo YA (Y -19/¥\4 >

[Qu’lﬂonum 10

A 104cg of a substance absarbs 173 keal of heat and its temperature rises from 2610 10 150 °C. What s
the specific heat c of this substance? -

©=0.715 kealkg *C
©=0.315 kealkg °C
©=0.115 kealkg °C

= =1
L [ N R N T R T e

A i
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Question No. 22

A constant force F is making an angle 25° with the direction of motion ofan object. If
the distance moved is 100 m and the work done on the object is 1820 J. the force F

40N
20N
10N
30N
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Question No. 20

as it hits the

A rock falls from an edge of a mountain 45 m above the ground. Find its s[
ground? (use g = 10 m/s?)

40 m/s
20 m/s
10 m/s
30 m/s

T e
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Question No. 23

A car in linear motion has initial speed = 72 kn/h. If it travels for 15 seconds with acceleration = 2 m/s/s

the total distance it coy

' 225 m
800 m
' 100 m
525 m

B cave & Next il e




MKCL OES

hysics_Quizz_Sem2_201 9

Total questions in exam: 25 | Answered: 0

Question No. 22

A constant force F is making an angle 25° with the direction of motion ofan object. If
the distance moved is 100 m and the work done on the object is 1820 J. the force F

40N
20N
10N
30N




MKCL OES

Physics_Quizz_Sem2_201 9

Total questions in exam: 25 | Answered: 0

Question No. 23

A car in linear motion has initial speed = 72 kn/h. If it travels for 15 seconds with acceleration = 2 m/s/s

the total distance it coy

' 225 m
800 m
' 100 m
525 m

B cave & Next il e




MKCL OES

hysics_Quizz_Sem2_201 9

Total questions in exam: 25 | Answered: 0

Question No. 22

A constant force F is making an angle 25° with the direction of motion ofan object. If
the distance moved is 100 m and the work done on the object is 1820 J. the force F

40N
20N
10N
30N




MKCL OES

Physics_QuizZ_Sem2_201

Total questions in exam: 25 | Answered: 0

Question No. 20

as it hits the

A rock falls from an edge of a mountain 45 m above the ground. Find its s[
ground? (use g = 10 m/s?)
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estion No. 24
 stone drops in a free fall from the edge of a mountain, how long does it take to fall 125 m: (use g = 10 m/s/s)
10s

15s
25s
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uestion No. 25

 what speed does a 20-N weight have a kinetic energy of 100 J?

40 m/s
20 m/s
10 m/s
' 30 m/s
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| if no net force acts on @ moving objec
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© increasing velocity
@ zero velocity
@ increasing acceleration

@ zero acceleration
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 stone drops in a free fall from the edge of a mountain, how long does it take to fall 125 m: (use g = 10 m/s/s)
10s

15s
25s
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Question No. 15

The law of action and reaction is Newton's:

U Inertia law
Second law
Third law
First law
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Juestion No. 18

f an object is falling with an acceleration that is less than the acceleration due to gravity, the object:

& must have big inertia.
2 must have a small mass.
9 is non-freely falling.

9 is freely falling.
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o

| if no net force acts on @ moving objec

|

© increasing velocity
@ zero velocity
@ increasing acceleration

@ zero acceleration
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Which of the following temperatures s NOT possible?
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Juestion No. 18

f an object is falling with an acceleration that is less than the acceleration due to gravity, the object:

& must have big inertia.
2 must have a small mass.
9 is non-freely falling.

9 is freely falling.
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According to Newton s second law (F=ma), ¥F 5 kept constant, hen

4
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Question No. 8

Acar Is moving with 60 kmv/h for 20 min and then with 90 xmvh fof anotner 20 min and then 00K 2 rest for
20 min. The car then continues wih 100 kv for an hour. The average speed or this jourey 5
approximately

© e5kmn

© 90 kmh
75 km/h
110 kmh

mstrucr
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AT50-N load is ited a vertical distance of 20 m in 10 s What power is developed?

| @ 150w
© 1500 kw
© 15kw
© 150 kw
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You raised @ 10-kg object 10 a height 013 m, and your friend raised the same Ol
work done by your friend is

@ nair your work
© same as your work
© one third your work
@ four times your work

Save & Next 13, ha

bject 1o @ height o
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Question No. 20

Apump s needed 1o 11 3000 L of water In @ minute a distance of 30 M What power mus? the pump
| to demver? (1 L of water has a mass of 19)

|

@ 250w
O 15w
© 30w
© 20w

|




Question No. 16

| A constant force F is making an angle 25° with the direction of motion ofan object. If
| thedistance movedis 100 m and lheworkdoneonlhenbjm is 1820 J, the force F is

@ 30N
® oNn
® soN
© 208
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. 100-kg mass to a height of 15m?




10
. 100-kg mass to a height of 15m?
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Question No. 5

The unit of the coefficient of friction is

m/s/s
newton
newton/kg
has no units
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Question No. 21

A force of 1 N is the same as

1kgms
1 kg m/s/s
1 kg m/s

1 kg s/m
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The friction between wo surfaces increases as

area between the surfaces INCreases

the normal force betw

»en the surfaces decreases.

the coeficient of inction decreases

etween the surfaces increases
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Question No. 14

nandgun with a force F1, the handgun recoils (5) with 2

ind in the same direction
ind perpendicular

il and opposite
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Question No. 8

How many kilocalories of heat must be added to 10 kg Tungsten to raise its temperature by 230 Fahrenheit?

| (The specific heat of Tungsten is ¢ = 0,134 J/g.°C and ATy = 1.84T¢.)

) 4.09 kcal
409 keal
2 0.409 kcal
2 40.9 kcal
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Question No. 22

If there is a net force acting on a moving object, the object must be:

small
moving with constant velocity
large

accelerating






Question No. 8

Acar Is moving with 60 kmv/h for 20 min and then with 90 xmvh fof anotner 20 min and then 00K 2 rest for
20 min. The car then continues wih 100 kv for an hour. The average speed or this jourey 5
approximately

© e5kmn

© 90 kmh
75 km/h
110 kmh

mstrucr
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Question No. 23

Which of the following do not help reducing (%) kinetic friction:

) using Teflon
using heavy weights
using smoother surfaces

using lubrication (<w 3)
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Question No. 8
AT50-N load is ited a vertical distance of 20 m in 10 s What power is developed?

| @ 150w
© 1500 kw
© 15kw
© 150 kw




Question No. 21
You raised @ 10-kg object 10 a height 013 m, and your friend raised the same Ol
work done by your friend is

© narr your work
© same as your work
© one third your work
© tour times your work

bject 1o @ height o
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Question No. 18

Neglecting ar resistance, f a
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Question No. 20

Apump s needed 1o 11 3000 L of water In @ minute a distance of 30 M What power mus? the pump
| to demver? (1 L of water has a mass of 19)

|

@ 250w
O 15w
© 30w
© 20w

|




Question No. 16

| A constant force F is making an angle 25° with the direction of motion ofan object. If
| thedistance movedis 100 m and lheworkdoneonlhenbjm is 1820 J, the force F is

@ 30N
® oNn
® soN
© 208




Question No. 4
If the speed of an object ncreases five

O 25umes
W 25 tmes
@ 5 umes

10 times

times. its kinetic energy increases
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Question No. 3

In the Fahrenheit temperature scale, water freezes at

Save & Next i), s
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Question No. 6

Temperature is a measure of the an object

© volume of
© area of

2 hotness or coldness of

© color of
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he height a 20-kw motor can lift a 1000-kg mass to in 10 SeC 1ds is

) 40m
) 20m
' 10m
' 30 m




Physics_QuizZ_Sem2_201 9

tal questions in exam: 25 | Answered: o

lestion No. 10

. 10-kg of a substance absorb

s 173 keal of heat and its
1€ specific heat ¢ of this subst

temperature rises
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from zero to 150 °C. Waght is

€= 0.715 kcalkg °C
€=0.315 kcalkg.°C
€=0.115 keal’kg.°C

©=0.515 kecalkg °C
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Question No. 8

How many kilocalories of heat must be added to 10 kg Tungsten to r

aise its temperature by 230 Fahrenheit?
(The specific heat of Tungsten is ¢ = 0,134 J/g.°C and ATy = 1.84T¢)

) 4.09 kcal

2 409 kcal

2 0.409 kcal
40.9 kcal
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Question No. 9

You applied a horizontal force of 200 N to Push a level table but the table remained at rest. The static friction force is

© 20kg
© 20N
© 200N

200 kg
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Question No. 4

Two forces 10 N and 25 N act
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a block of iron, the iron atoms:
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| When we heat a block of iron, the iron atoms:

n No. 14

© vibrate faster
© stop moving
© vibrate sioyer

increase i number
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If the speed of an object Increases five

@ 25 umes

o 25 tmes

& 5 mes
10 times

times. its kinetic energy increases
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Question No. 20

A rock falls from an edge of a mountain 4

ground? (use g = 10 n

40 nvs
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Question No. 23

Which of the following do not help reducing (%) kinetic friction:

) using Teflon
using heavy weights
using smoother surfaces

using lubrication (< 3)
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estion No. 24
 stone drops in a free fall from the edge of a mountain, how long does it take to fall 125 m: (use g = 10 m/s/s)
10s

15s
25s




Total questions In exam 25 | Answered: 19

Question No. 21

A force of 1 N is the same as

1kgms
1 kg m/s/s
1 kg m/s

1 kg s/m
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Question No. 13

When a man pushe:
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Question No. 15

The power nee

40 kW
20 KW
50 kW

30 kW
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Question No. 15
How long would it take a 5 KW motor fo raise a 500-kg mass 10 a platform 4 m above the floor?
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Question No. 1

A car is moving with 72 km/h for 40 min and then took a rest for 2[v min. The car then continues with 120 km/h for t
this journey is approximately

© 96 kmin
© 100 km/n
© 110 km/h il

2 75 km/h
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Question No. 15

The law of action and reaction is Newton's:

O Inertia law
Second law
Third law
First law
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Juestion No. 18

f an object is falling with an acceleration that is less than the acceleration due to gravity, the object:

& must have big inertia.
2 must have a small mass.
9 is non-freely falling.

9 is freely falling.




Question No. 6

Which of the following temperatures s NOT possible?
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According to Newton s second law (F=ma), ¥F 5 kept constant, hen
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Question No. 8
AT50-N load is ited a vertical distance of 20 m in 10 s What power is developed?

| @ 150w
© 1500 kw
© 15kw
© 150 kw
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You raised @ 10-kg object 10 a height 013 m, and your friend raised the same Ol
work done by your friend is

© narr your work
© same as your work
© one third your work
© tour times your work

bject 1o @ height o
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Acar Is moving with 60 kmv/h for 20 min and then with 90 xmvh fof anotner 20 min and then 00K 2 rest for
20 min. The car then continues wih 100 kv for an hour. The average speed or this jourey 5
approximately

© e5kmn

© 90 kmh
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mstrucr




Question No. 16

| A constant force F is making an angle 25° with the direction of motion ofan object. If
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Question No. 20

Apump s needed 1o 11 3000 L of water In @ minute a distance of 30 M What power mus? the pump
| to demver? (1 L of water has a mass of 19)
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O 15w
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Question No. 5

The unit of the coefficient of friction is

m/s/s
newton
newton/kg

has no units
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Question No. 21

A force of 1 N is the same as

1kgms
1 kg m/s/s
1 kg m/s

1 kg s/m






